5.5B Worlsheet %t

5.5B Worksheet ANSWER.

1. a) domain: {-2, -1, 1, 2}, range: {-1. 1.2
b) domain: { I,_?,S;?},rangei {0,,2,3
¢) domain: {2,*{'6,9,10}, range: { TEAAS

2. a) all real numbers greater than —4 and less than or equalto 3, (-4, 3]

b)  all real numbers greater than or equal to 3, [3, ©)

¢)  all real numbers less than or equal to 2, (0, 2]

d) all real numbers less than or equal to 1 as well as all real numbers greater than 4,  (—o0, —1] or (4, )

3. a)
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T e 0= x<5§
4 3 2 -1 0 1 2 3 4 5 6
b)
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4 3 2 -1 0 1 2 3 4 5 6 7
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4. a) WORDS: D: all real numbers R: all real numbers
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NUMBERLINE D: -4 -3 2 -1 0 1 2 3 4 5 6 R ~4 3 -2 0 1 2
INTERVAL NOTATION:  D: (<o0,0) R (w0, ®)
SET NOTATION: D: {xeR} R:{yeR}

INEQUALITY D: xR R: 36R

b) WORDS: D: all real numbers R: all real numbers greater than or equal to —1

o
L T Ly . 1 1 v Y

NUMBERLINE: D: 4 3 2 - 0 1 2 3 4 5 6 R 4 3 2 0 1 2 3 4 5 6
INTERVAL NOTATION: D: (w0,@) R: [-1,)

SET NOTATION: D: {xeR} R: {y|y=2-l,yeR}
INEQUAL) Ty D:zeR  Riyz-l
c) WORDS: D: all real numbers greater than or equal to 0 and less than or equal to 4,

R: all real numbers greater than or equal to 0 and less than or equal to 2
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NUMBERLINE: D: 4 3 2 4 01 2 3 4 56 R =4 -3 24 01 23 45 6
INTERVAL NOTATION: D: [0, 4] R: [0,2]
SET NOTATION: D: {x|0<x<4,xeR} R: {y|0<y<2,yeR}

INEQUALITY: D *0sx ey Riosys2

d) WORDS: D: negative one R: all real numbers greater than

+—t—t—t 1> e e Ot
NUMBER LINE: p: 4 -3 -2 - ¢ 1 2 3 4 5 6 R 4 -3-2-1 101 2 3 4 5 6
INTERVAL NOTATION:  D: _[-1,-1] R: (1,
SET NOTATION: D:ix'xz-] SXERER: ly>1yeR)

INEQUALITY ¢ Dz x=-[ “R* Y=
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